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Percentuali di numeri ( numero mancante )

x 70% = 66.5
x30% = 6.3
x 60% = 33.6
x 10% = 4.3
x70% =41.3
x 50% = 27
x 30% = 9.6
x 60% = 39
x 90% = 4.5
x 80% = 1.6
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Data:
x 80% = 60.8
x 50% =17.5
x 40% = 36
x 10% = 9.1
x70% = 21.7
x 40% = 15.2
x30% =23.4
x70% = 35
x 30% = 22.5
x 50% = 36

Punteggio:
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werE<

Percentuali di numeri ( numero mancante )

Nome:

95 x70% = 66.5

21 x30% = 6.3

56 x 60% = 33.6

43 x 10% = 4.3

59 x70% = 41.3

54 x 50% = 27

32 x30% = 9.6

65 x 60% = 39

5x90% = 4.5

2x80% = 1.6

Data: Punteggio:

76 x 80% = 60.8

15 x50% = 7.5

90 x 40% = 36

91 x 10% = 9.1

31 x70% = 21.7

38 x40% = 15.2

78 x 30% = 23.4

50 x70% = 35

75 x30% = 22.5

72 x 50% = 36
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